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Paitl_ (60 MARKS) .

For each question from 1 to 30, fod} aptions are given. One of them is the correct
answer. Make your choice (1, 2,'3or 4) Shade the correct oval (1, 2, 3 or 4) on
the: Opt:cai Answer Sheet.

1. Study.the classification belbw-.

( Living things ‘

Which one of the following is the correct group for A?
(1) Plants (2) Fungi

{3) Micro Organisms (4) Non-Flowering Plants
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‘Study-the-diagram below to answer Question 2 and 3.

Which of the following plant part above contains seeds?
(1 A (2 B
3 C | 4 D

Which of the following plant part above is capabie of making its own
food?

1 A (2) B
3 C (4) D



4.

5
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A celery stalk was placed in a beaker of red coloured water as shown in

the diagram below. -After a few days, the leaves and stem-had turned
red.

beaker of red coloured
water

What does the experiment show about the function of the stem?
(1) it holds the plant upnght
(2) It stores water for the iptant.

(3) It carries food to all parts of the plant.
(4) It transports water: t0 all parts of the plant.

The diagram below shows the tife. cycle of an animal.

T

-Adutt

~.
"

Which animal is likely to have the life cycle as shown above?
(1) Frog (2) Rabhbit

(3) Mosquito (4) Grasshopper
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6. Look at the four pfctures- given below.

C

D

Which one of the following is the correct order of the lifecycle of a

butterfly?

(1) C,A BandD

(3) A,B,CandD

7.  Study the flow chart below.

Living Thing

Y

Does it have a 4-
staged life cycle?

Yes

{2) B,ADandC

(4 DA,CandB

» Animal A

No

Does it have
feelers?

Yes

Does it have 3 body

No

Animal B

Which of the animals above most likely belong to an insgct group?

(1) Bonly

(3) AandDonly

parts?

Yes

A\ 4

No

\ 4
Animal C

(2) Donly

(4) BandC only

Animal D
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8. The table below shows how the temperature of the surroundmgs affects
PlantY in the following ways:

. number of seeds germinated
» length of its life cycle (until it grows its first leaves)

" Surrounding Number of Length of life cycle
temperature (°C) seeds (days)
L germinated
| 18 50 - ' 25
22 - 110 ' 15
26 140 13
30 . 225 o 10

Which of the following is a possible deduction?

. (1) As the length of life cycle of Plant Y decreases the number of
Plant Y decreases.

(2) As the temperature of the surroundings increases, the faster the
seedlings grow its first leaves. }

(3) As the temperature of the surroundings decreases, the number of
seeds germinated increases.

(4) As the number of seeds germinated increases, the temperature of
the surroundings decreases.
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9. Peter planned an‘experiment. He Iabeiled 4 similar glass jars as A B,.
€ and D and put some crushed paper { towel into each of them. 6 green
bean seeds were then placed on the paper towel'in. eabh ‘jar. He placed a
different number of drops of water on each of the papeértowel. The total
number of germinated seeds in each glass jar was counted each day for
a week.

Glassjar | — Glass jar
- e
Papertowel ———Sz:nz
with S:drops of ’
water /] Paper towel
with 10 drops
of water -
A B
Glass jar _ Glass jar
Green . Green
. : 7N e T
beans %é’:ay;éa)) Paper towel beans
: 7»+~ with 15 drops 7.
) 4 ‘Paper towel
of water 7 with 20 drops
of water
C D

What was the aim of Peter's experiment?

(1) To find out.if water is needed for germination
(2) To find out if the type of water wilt affect the rate of germination
-(3) To find out if the amount of water will affect the rate of germination
e To find out if the temperature of water will affect the rate of
germination



10.

11.
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Study the graph of the life ciycle of an insect. .

Number of
days spent in |
that stage

20 —

15

-

(s

egg " nymph ~— ¢ Stages

How-manpy:days dogs it take for the above msect%o become dn aduit.
after the egg has hatched’7
(). 5days’ - 2 10 days
(3) 15 days (4) 30 days
Matter is anythiné that has mass and occupies space.
Which one of the following is not a matter?
(1) Air (2) Light
(3) Sponge (4) Soil
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12.  Jenny wanted to find eut-whj tedal is a be$ r con . She
ed two shee iHfer aterials )n aﬂ;a?n aQ air-congition
roomYor a certain period of tme. Thén she pi her ha of
‘me‘gﬁeet as shown below. : '
Material X Material Y

Which of the variables must be kept the same for the above experiment?
# . The temperature of the room-
‘B: The material of the table used
C: The thickness of the matenals X and Y
D: Amount of heat in the material when the hand was placed
(1) A andC only | (2) Band C only
(3) A,BandC only (4) A,.C andD only

13. David measured the mass of four different materials before and after
soaking each material in a pail of water. The restlts were as shown

below.
| Mass of materials (g)
Material | Before soaking in water After soaking in water
A 50 160
B 90 ' 150
C 100 200
D 150 180

Which matetial is the best for making a mop as shown below?

water

1) A
@} C 4 D



Rosyth School/Semestral Assessment 2/Science/P4/2011

14.  Study the flow chart below.

ﬂ:ﬁg - Is it opaque? No, Q | No
Yes Yes
Copper No " L R |-No,
wire
Yes Yes

fron nail Plastic

bag

Which one of the'following is the most suitable set of questions
represented by P, Q, and R?

P Q R

N Isitamagnetic | Doesithave a
M Is itflexible? material? definite shape?
Is it a magnetic T 4o1an Does it have a
2 material? - Is it flexible? definite shape?
|
3) Is it a. magnetic Does it have a 1s it flexible?
materia'j? definite shape? -
Does it have a . e is it a magnetic
) ! definite shape? Is it flexible? material?
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15 The materials shown below are used to show a difference in the property
of oxygen and water.

b e -]

2 syringes 10cm? of 10cm® of
coloured water oxygen

What is the property that can be shown using all the materials above?

(1) Coloured water can be seen while oxygen cannot be seen.
{2)-. Coloured water allows less light to pass through-than oxygen.
(3) 10cm® of coloured water has a greater mass than 10cm® of
oxygen. . .
(4) Colaured:-water-has a definite volume while oxygen has an
 indefinite volume: :

16.  What is:the main function of the large 'iﬁtes-tiﬁe?
(1) It removes water from the:body.
(2) It removes digested food from the body.

3) -it ab_sorbs water from the undigested food..
(4) Itallows undigested food to be passed into the biood.

10
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17.  Which one of the following is a horseshoe magnet?

(1 ' (2)

C)

(3)

N

b2

18.  Which of the following diagiam shows the property that unlike poles
attract? ) o

1

(1

(2)

- (3)

@

11



Rosyth School/Semestral Assessment 2/Science/P4/2011

19.  Which one of the following is the weakest magnet?

String -

(1 (2) 3) ) Magnet

iron nail

[\ Al
ed— S o Agl s S

20. Weiliang had four magnets as shown below. He brought them close to

some paper chps
Magnet Magnet Magnet Magnet
A B Cc D

He observed the number of paper clips attracted by each magnet and
‘tabulated the resuits in the tabie below.

MagnetA |- MagnetB | MagnetC | MagnetD
15 10 13 26

Number of paper
‘clips attracted

What can he conclude from the results above?

(1) The strength of a magnet depends on its size.

(2) Bigger magnets are weaker than smaller magnets.

(3) Smaller magnets are stronger than bigger magnets.
(4) The strength of a magnet does not depend on its size.

12
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21. Study the classification diagram carefully,

L Objects J

. —
1 ' A |

( T
L Group A J Group B
Bl | |
lron F Wood )
Steel Ceramic

N

What is the most suitable heading for the classification above?

Group A Group B |
(1) Flexible Stiff’
(2) Magnetic i Non-magnetic
3 Transparent Opague
(4) | Poor conductors of heat { Good conductors of heat

22. A box was placed on a thin sheet of cardboard as shown below.

box

AN

cardboard

magnet

When the magnet moved, the box moved along with it.
Which material is the box likely to be made of?

(1) steel (2) oglass

(3) copper (4) rubber

13
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23. -Similar wooden blocks and cardboards were used in all the set-ups
. shown below. However, the size and shape of the wooden tubes used
were different. Mirrors were attached inside each of the tubes.

cardboard /cardboard

wooden
fube

mifrror

block
" Set-up W -Set-up X
/,carglb.oa;d cardboard
wooden /  mirror

woaoden

ﬁbe
- mirror—{ NN
h? — S

- P
wogoden ; wooden
block block

Set-up Z

, Sef-up Y

Which of the set-ups would enable you to see the wooden block at the
other side of the cardboard?

(1) W.and X only (2) WandY only

(3) YandZonly (4) Xand Z only

14
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24. Study the diagram below carefully.

—®

- -Mirrors should be placed-in the tube in order to see the football at the
.other-end. '

What is the least number of mirrors needed?
(1) Three (2) Four

(3) Five (4) Six

25. Which of the following give off their own light?

A  Sun
B Star
C Moon
D Cloud
(1) Aand8only {(2) BandConly
(3) A, BandC:only (4) B, CandD only

15
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26. - Siti'set-up.an experiment on light-as shown below. She-keptthe torch
-and screen at the same positions but moved the metal block to three
different positions, X, Y and Z. She then measured the length of the
shadow cast on the screen.

screen
metal block

=4

torchlig}t 7 _r r. |

Which one of the following graphs chrrectly shows the likely result of the

experiment above?
(1) | Heightof (2) | Heightof.
shadew (cm) - shadow (cm)

@3) [ Height of - (4) [ Heignt of
shadow (cm) shadow (cm)

16
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27. Many pupils sat around the campfire during the P4 camp. Based on the
. diagram below, at which seating position would you feel the hottest?

(¥ L _ @ M

28. Aglass filled with ice-cubes was left on the table for five minutes at room
temperature. - o IR

Which of the following state(s) would be observed as the ice-cubes

-staded to melt?
(1) - Solid only {2) Liquid only

(3) Ligquid and gas only .(4) Solid and liquid only

17
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29. Aball is:hung from avme_t_'a-le,wire and leﬂaumdér,th'e'-ho_t-.sun for 2 hours.
.- The change'in the metal wire is shown bel_mm.._;

| Bl

metal wire
Scm - 6cm

Before After 2. hqurs

Which effect of heat causes the change in the metal wire shown?

(1) Themetal wire expands when it loses heat.
(2) The metal wire expands when it gams heat.
(3) The metal wire contracts when it gajns-heat.
{4) The metal wire contracts when it loses* higat.

18
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30. The arrows in the diagram below indicate how heat travels through two
- simitar U-shaped ‘metakrods immediately aﬂer they were immersed mto
three beakers of-water, X Yand Z.

heat flow

heat flow

metal rod metal rod

— water

—— - -

- Beaker Z

Beaker Y

Beaker X

Which.of. themllaw "';'g.:mest likely shows the temperatures of water in the

(1)
(2)
(3)
4)

three beakess when:the rods were just put.in?
Temperafure of Temperature of Temperature of
water in Beaker X water in Beaker Y | water in Beaker Z
_{°C) ) ¢ C)

— 20 40 90 ~
40 20 - 90
90 40 20 -
90 20 40

End of Part 1

19
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PART ll (40 MARKS)

For questions 31 to 44, writejyc'sur answers in this booklet.

31. Muthu placed a potted plantin a cardboard box with a small openmg and
placed it in a garden for a week.

vAy
<3 >

B ]pvQ sun

A week later

) 4

+—cardboard box —

~ After a week, he observed that the plant has grown towards the opening.
(a)  State the characteristic of living things based on the above experiment.

(1m)

Muthu repeated the expetiment usmg a clear plastic box with a sman opening
and another potted plant as shown below.
DEY
<3 =
f £ T

A week later

clear plastic —
box

(b) What would be the 6bservation a week later? Explain why. (2m)

(c)  Why is sunlight important to plants? ‘ , - (1m)




: Rosyth School/Semestral Assessment 2/Science/P4/2011

32. Kevin saw 2 different plants at the Science garden.

- Wooden
pole

Plant J Plant K

(a) State one difference betweén Plant J and Plant K with regards to the stem.

(1m)

(b). Kevin noticed that both plants are growing upright.
Why is it important for both plants to remain upright? (1m)
(c) Name two things that both plants need in order togrow well. (1 ﬁn)
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33. The diagram below shows the life-cycle of a cock{oabh.

\

e :
> D

Choose the correct words from the box to-answer the-question below.

larva nymph egg © pupa
(3) Name the two stages above X and Y. (2m)
X
Y: .
(b) Give an example of another animalthat has a 3-stage life eycle. (1m)




34.

(a)

(b)

35.

()

(b)
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Gerald tested two materials on their ablllty tﬁrstretch He-added the weights -
onto the two materials separately and measured the length they can stretch
as shown below. The materials returned back to their original length when the
weights were removed.

Mass of weights | Length of material P | Length of material Q |
{9) (cm) (cm)
0 30 30
20 31 35 T
40 . 34 35
60 34 35
Which material (P or Q) has a greater ability to stretch ? (1m)

Support your answer in (a). ‘ (1m)

Choose the correct words from the box to answer the questions below.

large intestine anus smallintestine =~  gullet

{n a human digestive system, name the part where

digestive juices can be found : (1m)

.waste is passed out from the body : (1m)
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36. The flask below contains 400 cm?® of air. Sumei tried to push the plunger of

the'syringe filled with water but she could not'do it. No water entered the

glass: ﬂask
plunger
syringe filled with water
rubber stopper
/
(a)  Explain why the water did not enter the flask? (1m)
(b) Whét should Sumef do to allow the water to enter the flask? (1m)
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37.  The diagram below shows a beaker of water.

) (
180
fre0
| r'40 mt

water | —— ——120

(@) State if the following are solid, liquid or gas. ' (2m)

Beaker:

Water:

(b) State the common property betw_ee'ﬁ the two states only mentioned

in(a). (1m)

Aball was placed in the beaker of water and its position is shown in the
diagram beiow. '

-—

- 80

- 60 -
40 ml
water }= — — — ~-20

ball

(c) Can the volume of the ball be found in the above set-up? Explain why.
| - (1m)
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38. Zheng Wei used two magnets and:arranged them as shown below.

()

+ (b}

(©

T Jerewas [T
R
2] 1

Based on the set-up-given, identify-the pole at X. (1m)
X:
State the property of magnéTthat has caused the above arrangement. . (1m)

Zheng Wei Brought Objedt/A near the magnet. Both énds of Object A can be
attracted to-the magnet. .

Zhen Wei said that Object A is made of aluminium.
Do you agree with Zheng Wei? Give g éason to support your answer.  (1m)




' Rosyth School/Semestral Assessment 2/Science/P4/2011

39. Alicia pasted a piece of paper under a magnet and blaoed them above 7 iron
thumbtacks as shown below. She placed the magnet at a height of

5 cm above the table.
magnet
% ~—~_____paper

Scm

.;olu-\-unnihnnnp-

T’

NN

She repeated the experiment using different number of papers and placed the
mag,_nét to the same height.

A & A A A && — igmounmbtacks

table

She then recorded the number of thumbtacks that were attracted by the
magnet and the tesult is shewn in the table-below.

Number of paper(s) used | Number of thumbtacks attracted
; AnCt of T

7
2 . 5
3 ) 3
4 0

- (a) Based on the results obtained, state the relationship between the number of
papers. used and the number of thumbtacks-attracted by the magnet? (1m)

(bi) State the variable that was changed. (1m)

«(bii) State two variables that were kept the same. (1m)




Rosyth School/Semestral Assessment 2/Science/P4/2011

40. Vanni set up-an experiment using magnet as shown below. She was able to
keep the paper clip floating in the air when she held the magnet above it.

——magnet

/ // Material Q

paper clip

string

‘table
{a) ‘Why was Vanni able to keep the paper clip floating in the air? (1m)

When-a very-thin sheet of Material @ Was placed in between the magnet and
the paper ¢lip, the paper clip fell onto'the table.

(b) Explain why the paper clip dropped. (1m)




41.

(a)

(b).

(c)
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Zack recorded the length and direction of shadows formed at different times of
the day as shown below.

D E F G H
[ ] W [ T [ ]

Based onthe shadows formed, rank the shadows.according to the time they

- appeared from-8:am {o 6 pm. The first one-is done for you. (1m)
8 am ' —> 6 pm
G
Explain why the shortest shadow is formed at E. (1m)
What property of light causes shadows to beformed? . _ . (1m)

10
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-42. Me'l‘g Ling.set up an experiment using the materials as shown below.

i

white screen

. star-shaped
circular hole
cardboard
\é/
light bulb

. {3). Shade in the diagramipelow to show the shadow formed on the screep. (1m)

(b)

Mei Ling then decided to test. if different materials affected the shadow
formed. She placed each material in between the circular card and the
screen. "

-The result is shown in the table below.

Material Shadowformed |
X Light shade
Y .No shadow is formed
Z Dark shade

Based on the results obtained, identify the type of materials used.
Write your answers in the table below as opaque, transparent or translucent.

. (3m)
Material Type of material
(opague, transparent or translucent)
X
Y

1§
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43. Samy placed-2 spoons of the same size but made of different materials into a
glass of hot water at the same time.

Spoon A . Spoon B

Hot water

After 2 minutes, he held spoon A with his left hand and spoon B with his right
hand. He felt that spoon A was hotter than spoon B.

(A) . Give a reason why spoon A was hotter than spoon B. | {(1m)

(b) Samy then left both spoons in the cup at room temperature.
: What will happen to the temperatures of both spoons after 5 hours? (1m)

12
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44. Study the graph below to answer the following questions.

Temgrerature (°C)

J K

Time (min) -
(a) Is the water gaining or losing heat from point | to J? (1m)
{b) Support youi'r answer.in(a).- : (1m)
{c) Whatis-the:similarity between JK and MN? | _ (1my)

© End of paper ©
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31)a)living things respond tochanges.

b)The plant will grow straight and not grow towards the opening in the box./
Light can pass through the box as clear plastic box is transparent. Therefore it does
not need to grow towards the opening in the box.

c)Sunlight is important to plants as they need to make food.

32)a)Plant K has a weak stem while plant J has a strong stem.
b)The plants need to make food so it has to grow upright in order to get sunlight.
c)Both plants need water and sunlight in order to grow well.

33)a)X: egg Y: nymph b)Frog.

34)a)Materiail Q
b)Material Q is able to stretch more then material P when the same amount of
weight are added to both of them.

35)a)small intestine. b)anus.

36)a)The air in the flask cannot escape as there is a rubber stopper.
As air in the flask occupies space the water in the syringe could not enter the
glass flask.
‘b)Sumei should poke some holes in the rubber stopper so that the air in the glass
flask can escape and the water in the syringe can enter the glass flask.

37)a)Beaker: solid Water: liquid
b)Both have definite volume.
C)No the volume of the ball cannot be found.
The ball is floating and there will be no increase in the volume of water.
Therefore we cannot subtract the fevet of water before the ball is placed in and
after the ball is place in.
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Answer Key


38)a)North pole.
b)Like poles repel.
c)No I do not agree with Zheng Wei.
Aluminum is made of metat but it is made of a non-magnetic metal.
Therefore aluminum cannot be attracted to the magnet.

39)a)As the number of paber’s used, the number of thumbtacks attracted decreases.
b)i)Amount of paper.
ii)The type of magnet, thickness of the paper.

40)a)The paper clip-was attracted .to the magnet.
b)Material Q must be made of a magnetic material.
Therefore the magnetic force cannot be passed through magnetic materials.
Instead of attracting to the paper clip.it will attract to the very thin sheet of
material Q that is made of magnetic material.

41)a)G, D, E, F, H

-b)At noon the sun is overhead so the shadow formed is d|rectly below the object.
Therefore the shadow formed is short at not.

-c)Light cannot bend through objects.

42)a)

b)X : transtucent
Y : transparent
Z : opaque

43)a)Spoon A was able to conduct heat more easily than spoon B.
b)After 5 hours both spoons will come to room temperature.

'44)a)The water is gaining heat.

b)The temperature is increasing from point I to J.
c)The temperature remains constant.
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